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<dependency>
<groupId>redis.clients</groupId>
<artifactId>jedis</artifactId>
<version>4.2.3</version>

</dependency>
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implementation 'redis.clients:jedis:4.2.3'
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import redis.clients. jedis.Jedis;

public class RedisExample {
public static void main(String[] args) {
// Redis
Jedis jedis = new Jedis("localhost", 6379);

/7
System.out.println("Connection to server successfully");
System.out.println("Server is running: " + jedis.ping());
/7

jedis.close();
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jedis.multi();
jedis.set("keyl", "valuel");
jedis.set("key2", "value2");

jedis.exec();
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SELECT d.department_name, e.employee_name, MAX(e.salary) AS max_salary
FROM department d
JOIN employee e ON d.department_id = e.department_id

GROUP BY d.department_name, e.employee_name;
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SELECT d.department_name, e.employee_name
FROM department d

LEFT JOIN employee e ON d.department_id = e.department_id;
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